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Q.1 , _
(A} What is Central tendency ? Explain the measures of Central tendency. (08)

(B) From the given frequency distribution, obtain the value of Mean, Median and (10}
Mode.

Class : 0-20 | 20-40 | 40-60 | 60-80 | 80-100 1‘00~120 120-140
Frequency: | 04 | 08 18 30 | 20 14 | 06

OR

s (A) Explain Dispersion. Define quartile deviation and standard deviation. (08)
" (B) From the given data, obtain the co-efficient of standard deviation. (10)

Class: - | 0-10{10-20 | 20-30 | 30-40 | 40-50 | 50-60 | 60-70
Frequency: | 06 14 20 30 18 08 04

Q2 : ‘
(A) Explain the Correlation and types of Correlation between two variables. ()
(B) From the given data, obtain the rank correlation co-efficient between x and y. (10)

x: [22132(37(39]42{39(35/26|2728
y: 136]45]44|38[50[40[49[38]42]40

OR
Q.2
(A) Define probable error with formula. If n=16 and probable error = 0.085 then find (07)
correlation coefficients.

. (B Frq_m the given data, obtain the Karl Pearson's correlation coefficients. (10)

x: |39(36(35]133(31|30[29]28|27 23
y: |32]30]29[28(26{25124123(22]18

Q3 _ ,
(A} Define regression coefficients. Explain the difference between correlation and (08)
regressmn
(B) From the given data, obtaln the regression line equations of xonyand y on x. (10)
x¥: §33136|32146:33|35/38140741 |28
y: |31]26[31128{26(30/34{31]34[30
OR
Q3
(A) From the given data obtain the regression line equation of y on x. (08)

n=10, Ix = 130, Sy=220, £x*=2288, Txy = 3467
1




- (B) x + 2y = 5 and 2x + 3y = & are the two regression line equations. If the (10}
variance of x is 12, then find the values of %, ¥,r and Sj .

Q4 ;
(A) Explain the meaning and definition of index number, with its importance and 07
. _ limitations. ' o '
o (B) From the given data, obtain the Laspayer's, Pasche’s and Fishes's Index Number. (10)
Commodities Base year Current year
Price | Quantity | Price | Quantity
A 6 50 | 10 60
B 2 40 2 50
C 4 100 6 120
D 10 12 30 24
OR
Q4 -
.7 (A) Explain : Whole sale price index number. 07y
. (B) From the given data, obtain the index number, using (10)

(i) Aggregate expendifure method (ii) Family budget method.

Commodities | Quantity | Price Price
‘ for 1992 | for 1992 | for

2000

A 10 1.50 2.00

B 20 0.75 1.00

C 10 1.25 2.00

D 6 . 200 5.00

E 15 2.50 4.00

F 18 0.50 (.60

G i 50.00 75.00
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